Mathematics Online Class X On 19-07-2021

CIRCLES click

Circle

Circle is a collection of points which are equidistant from
a fixed point on a plane .

Fixed point is called the centre of the circle .
Here O is the centre of the circle .

Distance from centre to any point on the circle is the radius
of the circle . OA is the radius of the circle .

Diameter
Two times the radius is the diameter of a circle .
Diameter = 2 radius

Chord
Chord is.thelinie joining any two points on a circle .
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Here AB and CD are chords of a circle .
Longest chord of a circle is the diameter of the circle .
Here PQ is the diameter of the circle .



https://youtu.be/j55pQ2bVSnI

Arc
Arc is a part of a circle . APB is an arc.
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Central angle of an arc

If we join the end points of an arc to the centre of the circle , the
angle so formed is called the central angle of the are'.
£LAOB is the central angle of arc APB. P
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Sector
The shape formed by the arciand radii through the end points
is called sector .

Note :

The measure of central angle of an arc may be a number between
0°and 360°.

If the central angle of an arc is 180°, the arc is half of the circle
then it is called a semicircle .

If r is the radius of the circle,

(i) Area of circle = Ttr?

(ii) Perimeter of the circle = 2mr or md [d is the diameter]




Activity
Draw a line of length 5 cm Draw right triangles with this line as
hypotenuse

[Note : In right triangle angle opposite to hypotenuse is 90°]

Question
In the figure , AB is a diameter and P is a point on the circle .
% Find ZAPB?
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In the figure , AB is a diameter and P is a point on the circle .
O is the centre of the circle . Join OP .

Let ZAPO = x’ and ZBPO =

S LAPB =1+

OA = OP = OB [Radii of the same circle]

AAOP and ABOP are isosceles triangles .

We know in an isosceles triangle angles opposite to equal sides

are equal .
LAPO = LZPAO =" OA =0P
LBPO = LPBO =’ OP = OB

We know sum of all inner angles of a triangle is 180%
In AAPB, ZA + LB + LAPB = 180°
L+ P+ "+’ =180°
2 (" +y’) =180°
0
L +y) = % =90’
~LAPB =90’

If we join the ends of a tfl,ameter of a circle to a p01nt

on the circle , we' gej:-'a rlé‘ht angle 2/
OR

Angle 1na semﬁ’é@é}}é is a ,}ri{ght angle

Assignment

Use a calculator to determine
upto two decimal places, the

perimeter and the area of the

circle in the picture.




